Name: Hour:

Proof and Logic Unit Review

Determine whether the conjecture is true or false. Give a counterexample for any false conjecture.

1. Given: Point B is in the interior of LADC.
Conjecture: £/ADB = /BDC

2. Given: m* +6=10
Conjecture: m=2

3. Given: Two angles are supplementary.
Conjecture: They are both acute angles.

4. Make a conjecture given that P is the midpoint of AB.

5. Make a conjecture given that DE 1 EF



6. IfZY=7XY, then ZX = 8XY.

XY Z
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7. Line KL is parallel to line NM. Line PQ is parallel to line TU. If ZKRS = ZSMU, then ZPRK = ZLMS.
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Parallels Cut by Transversals Proofs HW

1. Given: <7=<land!//p

Hr:

Lo o
Prove: <52<3 o ie
< )
2.Given: w//xand gy // z
Prove: <1 and <4 are supplementary
. 1 ‘o
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3. Given: <12<2 and [/ p

Prove: <3 + <4 = 180° 4

4

Determine whether the following statements are always, sometimes, or never true.

4. Two angles that are supplementary are complementary.

5. Complementary angles are congruent.

6. Write a two-column proof, \/ O d@(’k - ‘é*;y*‘} Ot
Given: /1 and £2 form a linear pair. . ;
._Jn" 2] it A A i

£2 and /3 are supplementary. Filaq 1AAL I so

Prove: £1 = /3 \/()2‘;1_, ?“"h‘*fg‘“’(“j AT
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2-8 | Study Guide and Intervention (continued)

.9 Copy and complete the following proof.

Given: ZQPS = /TPR .gp S
Prove: LQPR = s 7ps

Proof: Q P
Statements Reasons
Write a two-column proof. ‘ A AC
Given: ZABC and ~CBD are complementary. D
£DBE and £CBD form a right angle.
Prove: LABC = LDBE B E
Statements | Reasons

M-

1. leen° AB 1| BC, A 2. Given: £1 and 22 T

/1 and 43 are - 14 form a linear pair, _ 1% o

complementary. B 5 C mel+ms8 =180 [ ' B\F”

Prove: £2 = /3 Prove: /2 = ,3 ' 3

Statements Reasons Statements Reasons
Chaptere )

Glencoe Geometry
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% LIGHTING In the light fixture,

AB = EF and BC = DE. Prove
that AC = DE

2 Given: L 1= 24 //
R ] .
Prove: /3 and £ | are supplements. ~—; 7

3. Given: 5= 26
Prove: 24 = 27




2.7 Practice
Mamie the definition, property, postulate or thereom lusteated.
LA = @4
2. IMAB = BC and B = OF, then AB = R,

8.1 Q is butwesn P and B, then PR = L&+ QR,

4 AR + BC = BF + PG and AB + BO = AC, then BFF -+ FGE = AC,

Write a7 s proot for each of the following,

& Givent Cis the midpuint of BT and Al
Prove: AB = DR
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LIf LM = PN and XM = XN, L e
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then LX = PX. | R . .
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Write proof,
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Gi Wm}iBgDI) #0 = BF A E“”ﬂ EF
Provis AC = DF
(y  Givem SU = LF g r.¥
t T s LN L
Prove: BT = NE - I S
Weite a prook,
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1O, Givors O the midpoing of 57, &
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il TRAVEL Refer to the figure. DeAnne knows that the Grgsan  Amx Teddng i Balf
distance from Grayson to Apex is the sams as the distance & A B B,
fram Reddiug to-Pine Bluky Prove that the distanca from -
‘Grayaon to Redding i aquakio the dhutanes from Apex to Pine Bfufi‘




